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100 Questions

Que. 1 Choose the option which is related to the third word in the same way as the second word is related to
the first word.

Tiger : Forest : : Otter : ?

Correct Option - 1

Water1.
Land2.
Air3.
Marshy land4.

Que. 2 Smita rode her scooty Northwards, then turned left and then again rode to her left 4 km. She found
herself exactly 2 km West of her starting point. How far did she ride Northward initially?

Correct Option - 2

2 km1.
4 km2.
5 km3.
6 km4.

Que. 3 Choose the option which is related to the third word in the same way as the second word is related to
the first word.

Eye : Myopia : : Teeth : ?

Correct Option - 2

Cataract1.
Pyorrhea2.
Meniere's disease3.
Syringoma4.

Que. 4 Direction: Which of the following answer figures will complete the pattern of the question figure?
Question Figure:

1.

2.



Correct Option - 1

3.

4.

Que. 5 Jumble the given jumbled words in a meaningful order and then select the odd one out.

Correct Option - 2

ATTAHBAYRA1.
INGA2.
INIHOR3.
ARAKSAHB4.

Que. 6 In a certain code language, "OBSCURE" is written as "NARBTQD". How will "AYUSH" be written
in that language?

Correct Option - 3

ZXTHG1.
ZXTRH2.
ZXTRG3.
YXTRG4.

Que. 7 Jumble the given jumbled words in a meaningful order and then select the odd one out.

Correct Option - 4

GLINESH1.
MGENRA2.
TNLIALA3.
SYHIORT4.

Que. 8 Choose the option which is related to the fourth word in the same way as the second word is related
to the first word.

Straw : Nest : : ?  : Thread

Correct Option - 2

Nylon1.
Cotton2.
Fiber3.
Cloth4.

Que. 9 A man walks 7 km in west direction and then turns to his right and walks 7 km and then turns to his
left and walks 5 km. Finally turns to his left and walks 7 km. How far and in which direction is he

from his starting point?
12 km, south1.
12 km, west2.
21 km, East3.



Correct Option - 2
7 km, North4.

Que. 10 In a certain code language, 'PRIYANKA' is written as ‘KIRBZMPZ'. How will 'FUNCTION' be
written in that language? 

Correct Option - 3

UFNXGRLM1.
UFMXHRLM2.
UFMXGRLM3.
UFMYGRLM4.

Que. 11 If ‘A’ means 6, ‘B’ means ‘3’ and ‘÷’ means ‘×’, select the number from among the given options
that can replace the question mark (?) in the following equation.

A ÷ 2 - ? + B = 1

Correct Option - 4

151.
172.
163.
144.

Que. 12 Study the given diagram carefully and answer the questions.
The numbers in the different sections indicate the number of person who are director, actor and

singer. Find the difference between the number of singers who are directors but not actors and the actors who
are singers but not directors. 

  

Correct Option - 4

101.
72.
33.
44.

Que. 13 In the given diagram, circle represent yellow color ball, triangle represent red color ball and
rectangle represent blue color ball. Find the ratio of blue color ball who are not red and yellow

color ball who are not red and blue.



Correct Option - 2

16 : 121.
16 : 92.
1 : 13.
4 : 94.

Que. 14 If P denotes 'Addition’, Q denotes 'Subtraction’, R denotes ‘Multiplication’ and S denotes
‘Division’, then which of the statements given below is/are correct.

Statement I: 42 S 21 P 64 Q 6 R 2 = 50
Statement II: 42 P 4 R 2 Q 3 S 1 = 47

Correct Option - 2

Only Statement I1.
Only Statement II2.
Both Statement I and II3.
Neither I nor II4.

Que. 15 Select the figure that will come in place of the question mark (?) in the following figure series.

Correct Option - 2

1.

2.

3.

4.



Que. 16 Select the figure from among the given options that can replace the question mark (?) in the
following series.

Correct Option - 3

1.

2.

3.

4.

Que. 17 Direction: From among the figures marked (a), (b), (c) and (d), select the figure which satisfies the
same conditions as the placement of the dots as in figure (x).

Problem Figure:

Answer Figure:

Correct Option - 1

a1.
b2.
d3.
c4.

Que. 18 From amongst the figures (A), (B), (C) and (D), select the figure which satisfies the same
conditions of placement of the dots as in question figure.



Correct Option - 1

A1.
B2.
C3.
D4.

Que. 19 From amongst the figures (A), (B), (C) and (D), select the figure which satisfies the same
conditions of placement of the dots as in question figure.

Correct Option - 3

A1.
B2.
C3.
D4.

Que. 20 Find the missing alphabet.



Correct Option - 4

T1.
A2.
Z3.
X4.

Que. 21 Choose the most appropriate answer.
Introducing Alka to guest, Brijesh said, “Her father is my maternal Uncle’s father”. How is Alka

related to Brijesh? 

Correct Option - 2

Uncle1.
Mother 2.
Sister3.
Niece4.

Que. 22 Garima is the wife of Kanika's brother. Kanika is the daughter of Kishore, who is the husband of
Sujata. Piyush is the son of Sujata's only son Aman. How is Aman related to Kishore?

Correct Option - 1

Son1.
Son's son2.
Daughter's husband3.
Brother4.

Que. 23 Which of the following options can replace the question mark (?) correctly?

Correct Option - 3

661.
822.
453.
754.

Que. 24 Which answer figure will complete the pattern in the following question figure?



Correct Option - 2

1.

2.

3.

4.

Que. 25 Select the Venn diagram that best represents the relationship between the following set of classes.
Factory, Product and Machinery

Correct Option - 4

1.

2.

3.

4.

Que. 26 X can complete work at the same time in Y and Z together can do it. If X and Y together can finish
it in 10 days and Z alone in 15 days, then Y alone can do it in how many days?

Correct Option - 3

70 days1.
40 days2.
60 days3.
50 days4.



Que. 27 The ratio of the number of boys and girls in a college is 7 : 8. If the percentage increase in the
number of boys and girls be 20% and 10% respectively, what will be the new ratio?

Correct Option - 2

23 : 211.
21 : 222.
22 : 213.
22 : 234.

Que. 28 A jar full of whisky contains 40% of alcohol. A part of this whisky is replaced by another
containing 19% alcohol and now the percentage of alcohol was found to be 26%. The quantity of

whisky replaced is 

Correct Option - 1

1. 2

3

2. 2

5

3. 3

5

4. 1

3

Que. 29 If the number 481A673 is completely divisible by 9, what is the smallest whole number in place of
A?

Correct Option - 2

151.
72.
63.
164.

Que. 30 In a certain office, 1/3 of the workers are women, 1/2 of the women are married and 1/3 of the
married women have children. If 3/4 of the men are married and 2/3 if the married men have

children, what part of workers are without children?

Correct Option - 1

1. 11

18

2. 7

11

3. 1

11

4. 5

18

Que. 31 If the simple interest on a sum of money for 2 yr at 5% per annum is Rs. 50, what is the compound
interest on the same at the same rate and for the same time?

Correct Option - 1

Rs. 51.251.
Rs. 522.
Rs. 54.253.
Rs. 604.

Que. 32 Ravi & Raghav complete a certain work in 25 days. If both started working together & Ravi left
after 15 days, then Raghav do the remaining work in 20 days. How many days Raghav will take to



complete the same work alone?  

Correct Option - 2

40 days1.
50 days2.
45 days3.
55 days4.

Que. 33 Find the approximate value 'k' in 234.01 × k/12.99 − 29.9% of 499.9 = 810.01 ÷ 26.98?

Correct Option - 4

251.
152.
303.
104.

Que. 34 The two numbers are in the ratio of 3 : 7. If the L.C.M of two numbers is 147, then find the H.C.F
of the two numbers.

Correct Option - 1

71.
212.
493.
None of the above4.

Que. 35 The difference between two selling prices of a T-shirt with profits of 4% and 5% respectively is Rs.
6. Find C.P. of the T-shirt.

Correct Option - 3

300 Rs1.
200 Rs2.
600 Rs3.
500 Rs4.

Que. 36 Ravi purchases 90 pens and sells 40 pens at a gain of 10% and 50 pens at a gain of 20%. Had he
sold all of them at a uniform profit of 15% he would have got Rs. 40 less. Find the cost price of

each pen?

Correct Option - 2

70 Rs1.
80 Rs2.
90 Rs3.
100 Rs4.

Que. 37 A tailor has 37.5 meters of cloth and has to cut 8 pieces in one meter. Accordingly how many
pieces will be made in the whole cloth?

3201.
3602.
4003.
None of these4.



Correct Option - 4

Que. 38 At what time between 7 to 8 O'clock will the hands of a clock points coincide with each other?

Correct Option - 3

 minutes past 81. ​​38 2

11

 minutes past 72. 32
8

11

 minutes past 73. 38
2

11

 minutes past 74. 11
2

38

Que. 39 A 3 m wide path runs outside and around a rectangular park of length 125 m and breadth 65 m. If
cost of flooring is 10 rs/m2, find the total cost of flooring the path.

Correct Option - 2

1275 Rs1.
11760 Rs2.
12750 Rs3.
1176 Rs4.

Que. 40 If Rs. 76 is divided into 7 : 5 : 3 : 4, then the smallest part is :

Correct Option - 4

Rs. 111.
Rs. 162.
Rs. 153.
None of the above4.

Que. 41 The diameter of the driving wheel of a bus is 140 cm. How many revolutions per minute must the
wheel make in order to keep a speed of 66 km/hr.

Correct Option - 1

2501.
25002.
253.
2004.

Que. 42 A number whose fifth part increased by 4 is equal to its fourth part reduced by 10. Find the
number.

Correct Option - 2

2101.
2802.
2603.
2304.

Que. 43 Distance between A & B is 887 Km. Amit goes to B with speed 75 Km/hr and return with the
speed 45 Km/hr. The average speed of Amit is

55 km/hr1.
60 km/hr2.



Correct Option - 3

56.25 km/hr3.
None of these4.

Que. 44 The 2 unbiased dice are rolled together, then find the probability that the sum of the numbers
appearing is a prime number.

Correct Option - 2

1. 5

36

2. 5

12

3. 1

2

4. 7

36

Que. 45 A train 100 meter long meets a man going in opposite direction at 5 km/h and passes him in 
 seconds. The speed of the train is

Correct Option - 2

7
1

5

40 km/h1.
45 km/h2.
36 km/h3.
52 km/h4.

Que. 46 The following sentence has been split into four segments. Identify the segment that contains a
grammatical error.

She persisted / to doing / what she wanted / despite opposition.

Correct Option - 1

to doing1.
what she wanted2.
She persisted3.
despite opposition4.

Que. 47 The following sentence has been split into four segments. Identify the segment that contains a
grammatical error.

He allowed / his son to drive /  but he warn him /  of the danger.

Correct Option - 3

He allowed1.
his son to drive2.
but he warn him3.
of the danger4.

Que. 48 The following sentence has been divided into parts. One of them may contain an error. Select
the part that contains the error from the given options. If you don’t find any error, mark ‘No

error’ as your answer.
The unseasonal rain/ caused a lot of damage/ to the crops.

The unseasonal rain1.
to the crops2.
No error3.



Correct Option - 3
caused a lot of damage4.

Que. 49 Fill in the blanks with the idioms /phrases out of the given options.
I am prepared to meet you ________.

Correct Option - 1

halfway1.
middle way2.
no way3.
final way4.

Que. 50 Directions: Fill in the blank with the most appropriate choice-
Drunk drivers are a ______ to everyone.

Correct Option - 2

citadel1.
menace2.
parry3.
etch4.

Que. 51 Directions: Fill in the blank with the most appropriate choice-
It is obvious that the interface is highly _______ and three-dimensional.

Correct Option - 1

convoluted1.
flaccid2.
obviated3.
forlorn4.

Que. 52 Directions: Choose the correct word/phrase that best completes the sentence.
Would you slow down a bit, please? I can't _______ you. 

Correct Option - 2

put up with 1.
keep up with2.
make up to3.
hold on to4.

Que. 53 Select the most appropriate meaning of the given idiom.
To have the same breath

Correct Option - 1

In the same statement1.
Make good progress2.
Have high hopes3.
Making a big fuss over a small thing4.

Que. 54 Directions: Fill in the blanks with the idioms /phrases out of the given options.



This is ________ the rest of his conduct.

Correct Option - 1

in touch with1.
to live with2.
of a piece with3.
a becoming4.

Que. 55 Directions: The following sentence has been divided into parts. One of them may contain an
error. Select the part that contains the error from the given options. If there is no error, select

‘No error’.
It seem inevitable / now that she will / find out what happened.

Correct Option - 4

find out what happened.1.
now that she will2.
No error3.
It seem inevitable4.

Que. 56 Directions: Choose the word that can substitute the given sentence.
Loyal, reliable, and hard-working.

Correct Option - 1

Stalwart1.
Stammer2.
Stampede3.
Stanchion4.

Que. 57 Directions: Choose the word that can substitute the given sentence.
Able to be understood; comprehensible.

Correct Option - 1

intelligible1.
intemperate2.
Intarsia3.
Intaglio4.

Que. 58 Read the following passage carefully and answer the question given below it.
Sphinx, a mythological creature with a lion’s body and a human head, is an important image in

Egyptian and Greek art and legend. The earliest and most famous example in art is the colossal recumbent
Great Sphinx at Giza, Egypt, dating from the reign of King Khafre (4th king of the 4th dynasty). This is
known to be a portrait statue of the king, and the sphinx continued as a royal portrait type through most of
Egyptian history. Arabs, however, know the Great Sphinx of Giza by the name of Abu al-Hawl, or “Father of
Terror.” Through Egyptian influence, the sphinx became known in Asia, but its meaning there is uncertain.
The sphinx did not occur in Mesopotamia until about 1500 BCE when it was clearly imported from the
Levant. In appearance, the Asian sphinx differed from its Egyptian model most noticeably in the addition of
wings to the leonine body, a feature that continued through its subsequent history in Asia and the Greek
world.

Which of the following is known as the "Father of Terror"?
Arabs1.



Correct Option - 3

Egyptian2.
The Great Sphinx3.
The Greek4.

Que. 59 It can be inferred from the passage that the Asian sphinx  __________________. (Choose the most
appropriate answer from the given options)

Correct Option - 1

has wings as comparison to the original Egyptian sphinx1.
has no similarity2.
doesn't have subsequent history in the Greek world.3.
has the figure of a tormented woman4.

Que. 60 the sphinx became known in Asia_____________. (Choose the most appropriate answer from the
given options)

Correct Option - 3

and has no resemblance with the original sphinx.1.
because of the Arabs.2.
with the help of Egyptian influence.3.
as a “Father of Terror.”4.

Que. 61 Directions: The following question, consists of an incomplete sentence or a sentence that is
split into four parts. All four parts are jumbled up and are named P, Q, R, and S. These four

parts are not given in their proper order. Arrange the jumbled parts of the sentence and find out which
of the four combinations from the given options will correctly complete the sentence.
Reproductive cloning involves _____________ and then grows as two identical embryos.
P: the implantation of a cloned embryo into a real or an artificial uterus.
Q: The embryo develops into a fetus that is then carried to term.
R: Reproductive cloning experiments were performed for more than 40 years through the process of embryo
splitting,
S: in which a single early-stage two-cell embryo is manually divided into two individual cells

Correct Option - 2

SRQP1.
PQRS2.
QPRS3.
RPQS4.

Que. 62 Directions: The following question, consists of an incomplete sentence or a sentence which is
split into four parts. All four parts are jumbled up and are named as P, Q, R and S. These

four parts are not given in their proper order. Arrange the jumbled parts of the sentence and find out
which of the four combinations from the given options will correctly complete the sentence.
Magic and religion played a large part ____________ all the tricks of the magician.
P: accompanied by incantations, dancing, grimaces, and
Q: Administration of a vegetable drug or remedy by mouth was
R: early human society. 
S:  in the medicine of prehistoric or

SRQP1.
RSPQ2.



Correct Option - 1

QPRS3.
PQRS4.

Que. 63 Directions: The following question, consists of an incomplete sentence or a sentence which is
split into four parts. All four parts are jumbled up and are named as P, Q, R and S. These

four parts are not given in their proper order. Arrange the jumbled parts of the sentence and find out
which of the four combinations from the given options will correctly complete the sentence.
Murray then portrayed ___________  American Idol in Rock the Kasbah (2015).
P: on her country’s version of 
Q: a young Afghan singer to stardom
R: a music manager who guides 
S: the musical competition program

Correct Option - 1

RQPS1.
RPQS2.
SPQR3.
PQRS4.

Que. 64 Read the following passage:
Globalization is the word used to describe the growing interdependence of the world’s economies,

cultures, and populations, brought about ____(X)_____ cross-border trade in goods and services, technology,
and flows of investment, people, and information. Countries have built economic partnerships to facilitate
these movements over many centuries. But the term ____(Y)_____ popularity after the Cold War in the early
1990s, as these cooperative arrangements ____(Z)_____ modern everyday life. 

Select the most appropriate word from the options against _____(X)______ .

Correct Option - 1

by1.
with 2.
on3.
for4.

Que. 65 Select the most appropriate word from the options against ____(Y)______.

Correct Option - 1

gained1.
lost2.
resultant3.
cause4.

Que. 66 Select the most appropriate word from the options against ____(Z)______.

Correct Option - 3

demolished1.
neglected2.
shaped3.
dismantled4.



Que. 67 In the following question, out of the given alternatives, choose the best one which expresses
the meaning of the given word. 

Conduit

Correct Option - 1

duct1.
closure2.
colossal3.
refusal4.

Que. 68 In the following question, out of the given alternatives, choose the best one which expresses
the meaning of the given word. 

Reprimand

Correct Option - 1

Rebuke1.
Praise2.
Compliment3.
Commend4.

Que. 69 In the following question, out of the given alternatives, choose the best one which expresses
the meaning of the given word. 

Prejudice

Correct Option - 2

Tolerance1.
Bias2.
Admiration3.
Approval4.

Que. 70 In the following question, choose the word which is opposite in meaning to the given word. 
Haughty

Correct Option - 4

Proud1.
Arrogant2.
Snobbish3.
Modest4.

Que. 71 In the following question, choose the word which is opposite in meaning to the given word. 
Crafty

Correct Option - 3

Cunning1.
Guileful2.
Honest3.
Sly4.

Que. 72 The given idiom is followed by four meanings. Choose the one which best expresses the
meaning of the given idiom.



Jaundiced eye

Correct Option - 2

A task or activity that has no hope of success1.
in a negative or uncharitable light2.
To praise someone3.
In high spirits4.

Que. 73 Find the best one-word substitution for the below description.
a short amusing or interesting story about a real incident or person.

Correct Option - 3

Palindrome1.
Ecstatic2.
Anecdote3.
Emeritus4.

Que. 74 In the following question, there is a related pair of words given. Each pair is followed by four
other pairs of words. Choose the pair from the given option the pair of words that best

expresses the relationship like the original pair.
Tiger : Forest :: Otter : 

Correct Option - 1

Water1.
Land2.
Air3.
Alien4.

Que. 75 In the following question, there is a related pair of words given. Each pair is followed by four
other pairs of words. Choose the pair from the given option the pair of words that best

expresses the relationship like the original pair.
Eye : Myopia:: Teeth : 

Correct Option - 1

Pyorrhea1.
Rickets2.
Scurvy3.
alzheimer 4.

Que. 76 The motto of the Indian Coast Guard is?

Correct Option - 3

Sam no Varunah1.
Duty Unto Death2.
Vayam Rakshamah3.
Service, Security and Brotherhood4.

Que. 77 Who appoints the Chairman and members of the State Public Service Commission?
The President of India1.

The Governor of State2.



Correct Option - 2

The Chief Justice of the Supreme Court3.
A Committee of Prime Minister, Home minister and the Leader of opposition4.

Que. 78 The viceroy who got assassinated in Andaman Nicobar was

Correct Option - 3

Lord Hardinge1.
Lord Northbrook2.
Lord Mayo3.
Lord Minto4.

Que. 79 In which river valley of India are the largest deposits of Gondwana coal found?

Correct Option - 1

Damodar river valley1.
Narmada river valley2.
Cauvery river valley3.
Mahanadi river valley4.

Que. 80 What is the theme of World Environment Day 2022?

Correct Option - 1

Only One Earth1.
Ecosystem Restoration2.
Time for Nature3.
Air pollution 4.

Que. 81 Which of the following pairs is not correctly matched?

Correct Option - 3

Castling - Chess1.
Twiddle - Table Tennis2.
Regatta - Billiards3.
Chukka - Polo4.

Que. 82 With reference to the ‘Kisan Credit Cards scheme’, consider the following statements:
I. The scheme was introduced in 1998 for providing adequate and timely credit support from the

banking system.
II. Kisan Credit Card can be used for the purchase of combine harvesters, tractors, and mini trucks.
III. The scheme comes with an ATM-enabled RuPay debit card.
Which of the statements given above is/are correct?

Correct Option - 4

I only1.
I and II only2.
II and III only3.
I and III only4.



Que. 83 Uranium 235 is best used for which of the following? 

Correct Option - 1

To find the age of the rocks1.
In the treatment of cancer2.
In the decomposition of dead animals3.
To measure the depth of the ocean4.

Que. 84 Which of the following has the shortest wavelength?

Correct Option - 2

Visible rays1.
Gamma rays2.
Infrared rays3.
X-rays4.

Que. 85 Who has authored a new biography of Netaji Subhas Chandra Bose titled 'Bose: The Untold Story
of An Inconvenient Nationalist'?

Correct Option - 3

Anuj Dhar1.
Bishnu Dey2.
Chandrachur Ghose3.
Ramesh Shil4.

Que. 86 Washington DC is situated on the bank of which of the following River?

Correct Option - 2

Hudson1.
Potomac2.
Mississippi3.
Colorado4.

Que. 87 There are total __________ hymns in Rig Veda

Correct Option - 1

10281.
12082.
10173.
10204.

Que. 88 With which country does India conduct a joint military exercise named “Exercise SAMPRITI”?

Correct Option - 2

Indonesia1.
Bangladesh2.
Sri Lanka3.
Nepal4.

Que. 89 Which transport tactical lifter capable of carrying payload more than 50 tons is also used in various
operations by Indian Air Force?



Correct Option - 1

C-171.
C-130J2.
IL-763.
Mirage 20004.

Que. 90 Match List I with the correct options of List II.

List I (Academy) List II (located at)
A. National Defence Academy 1. Pune
B. Indian Coast Guard Academy 2. Dundigal
C. Officers Training Academy 3. Chennai
D. Indian Air Force Academy 4. Mangaluru

Select the correct answer using the code given below.

Correct Option - 3

A-1, B-4, C-2, D-31.
A-4, B-1, C-3, D-22.
A-1, B-4, C-3, D-23.
A-4, B-1, C-2, D-34.

Que. 91 In which language were most Buddhist texts written? 

Correct Option - 4

Sanskrit 1.
Magadhi2.
Prakrit 3.
Pali4.

Que. 92 Who wrote the lyrics of the song ‘Aye Mere Watan Ke Logon’ ?

Correct Option - 2

Manoj Kumar1.
Pradeep2.
Shailendra3.
Raghupati Sahay ‘ Firaq’4.

Que. 93 The Kumbh fair has been included in the UNESCO list of intangible cultural heritage in which
year?

Correct Option - 2

20151.
20172.
20163.
20194.

Que. 94 Who among the following has written 'The Springing Tiger'?
Abdulrazak Gurnah1.

Louise Glück2.



Correct Option - 3

Col Hugh Toye3.
Peter Handke4.

Que. 95 Cartagena protocol is related to which of the following?

Correct Option - 2

Ozone depletion1.
Biological Diversity2.
Sustainable Development3.
None of the above4.

Que. 96 Apart from India and China, Myanmar also shares a border with

Correct Option - 4

Vietnam and Cambodia1.
Malaysia and Indonesia2.
Singapore and Philippines3.
Laos and Thailand4.

Que. 97 In October 2021, which of the following has become the 11th Maharatna central public sector
enterprise (CPSE)?

Correct Option - 2

NTPC Limited1.
​Power Finance Corp. Ltd2.
NBCC India Limited3.
Bharat Heavy Electricals Limited4.

Que. 98 Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason(R).

Assertion (A): Mangroves are very specialised forest ecosystems of tropical and subtropical regions
bordering certain sea coasts.
Reason (R): They stabilise the shoreline and act as bulwarks against encroachments by sea.
Choose the most appropriate answer.

Correct Option - 1

Both A and R are true and R is the correct explanation of A1.
Both A and R are true but R is not a correct explanation of A2.
A is true but R is false3.
A is false but R is true4.

Que. 99 Which force is deployed at India, Nepal and Bhutan Border?

Correct Option - 1

Sashastra Seema Bal1.
Central Industrial Security Force2.
National Security Guard3.
Indo-Tibetan Border Police4.



Que. 100 Consider the following statements:
1. The Design of the National Flag of India was adopted by the Constituent Assembly on 22nd

July, 1947.
2. The Constituent assembly rectified India's membership of the Commonwealth in May 1949.
3. The Constituent assembly adopted the national anthem and National song on January 24, 1950.
Which of the statement/statements given above is/are correct?

Correct Option - 4

1 only1.
1 and 3 only2.
2 and 3 only3.
1, 2 and 34.


	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




